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General Instructions to the Examinees :

1. Tenef Tegem 91 Y 93 W Ak ifqardd: faw |

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2. it g @ AfEE

All the questions are compulsory.

3. YA U H IW & TS IW-YRew H & fag |

Write the answer to each question in the given answer-book only.

4. 99 79 & T 9 1y 9AE ofF 9t 9T ¥, 39 94t 9FT @1 g T Wi 9aq
forg |
For questions having more than one part carrying similar marks, the
answers of those parts are to be written together in continuity.

5. U wHI® 23T 24§ R fa@ed § |
There are internal options in Q. Nos. 23 & 24.

6. WY HHIH 1% AR AN (i, ii, ili 997 iv ) ¥ | T&F 90 & 9K fahew o, &, |
AR T | Ul Tahed F1 STUR SW-gfEs # AR difash s fod
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There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part has
Jour alternatives A, B, C and D. Write the letter of the correct
alternative in the answer-book at a place by making a table as
mentioned below :

U9 ShHh e ST hT TSN
Question No. Correct letter of
the Answer
1. (i)
1. (ii)
1. (iii)
1. (iv)

1. (i) ToITuig 99eE §

(31) e (9) @fst 9

(|) e (3) ¥ |

Renewable resource is

(A) Coal (B) Petroleum

(C) Iron (D) Soil. =
(i) T % ST WM I 9l ©

(31) e () wreft fgh

(@) &RE (3) e |

Soil in river deltas is

(A) Alluvial (B) Black soil

(C) Alkaline (D) Laterite. =

(ii) TTSTEA T TA] G feorg
(31) WO H () Hewearet |
(¥) TE@Er ¥ (I) TR H |
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Atomic plant of Rajasthan is located at

(A) Narora (B) Kankarpara

(C) Rawat Bhata (D) Tarapur.

(iv) Tova & = o1 Gl 921 S T ST 2 §
(1) = () 9@
(W) dicis (3) ufpeae |

N —

Largest tea producer and consumer country in the world is

(A) China (B) India

(C) SriLanka (D) Pakistan.

2. YRAH I 9 IAEA B SHE-91 T TG T ?

Which is the primary woollen producing state in India ?

3. T=go Fo o & YU M fafEy |
Write full form of W.T.O.

4. FEEgH e &1 19 fafeu |

Write the meaning of business organisation.

5. HIH &7 ford #wd € 2

What is Joint Sector ?

6. TEURE HIA ok HIE F SR ST |

Give any two examples of multinational companies.

7. oo d= & afuer & @ smur fafaw |

Mention two bases of the jurisdiction of district forum.
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10.

11.

12.

13.

14.

15.

o1 Tehfean ford whed § 2

Who is called petty cashier ? 1
YT W99 6 IS & wRU faray |
Write any two causes of consumer exploitation. % + % =1

@Tdl o T MRl sl I §N Ui hifT |
Show the major classification of accounts by charts. 1
T TG o TeTT STrewass g i siiiferss e fafe |

Write any three necessary geographical conditions for sugarcane

1
production. % +% .,.% =13
AT & g o S9AnT fafay |

. 1 1 1 1
Write any three uses of copper. gty +t3 =1 5

IR THR G &F 9= o HFeh o URaR &g =ifa 3 Uohet & 18 A forg
fafam |

Write any three points announced as motivating package by

Government of India for standard small family of two children.

11 1,1
PR )
TS | Sfefen fais o 18 i Sevd fafau |
Write any three objectives of economic planning in Rajasthan.
LI SR S 1
7tz tz =13

I STAYURON F1 & ? TH STHURUN i (aeiiel s g hig &f Jod < |

What is the concept of Swadeshi ? Give any two suggestions to make
. . 1 1 1
Swadeshi concept dynamic. 7 + < 2 x 5) =1 5
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16.

17.

18.

19.

20.

21.

5
IAfd & YR I GEIYAT T R0l 916 g1 Yeiid shifea |

Show the classification of resources according to origin by charts.

'3
T TR ok e i S fafe |
Write any three measures of soil conservation. % + % + % =1 %
T 1 SAGEA Hifd o & dedll ol Ieeid hifT |
Mention two factors of population policy of India. % + % =1 %
R e o1 iy T Hifeg, |
Explain the meaning of economic planning. 1 %

ART-SEITd ST ki TATTT UH: hed A SISk & & fehe &l Sl |
Fi ?

Why is Iron and Steel industry mainly located near the area producing

raw materials ? 1 %
TG YN TN 1 0 fe=fafea el o 78R SN

(%) T

(@) A

(M) AR

(%) e |

Describe the State Consumer Commission according to the following
heads : 1+1+1+1=4

(a) Establishment
(b) Organisation
(c) Jurisdiction

(d) Appeal.
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22. fr=fafea =eRRl o1 T« JeH *f S+a § fafa :

2009 %o
feamr, 2 A Tehe T 40,000
feger, 7 <l JeH | A1 el 15,000
femmr, 12 Gfed &l w1 S= 5,000
feomr, 18 LEIGIEETCE| 25,000
feamr, 20 q<gl Ied i AT aler 500
feamr, 25 gfed = A1 der 1,000

Enter the following transactions in the Journal of Gupta Brothers :

1+<6x%) =4

2009 Rs.
December, 2 Purchased goods for cash | 40,000
December, 7 Purchased goods from| 15,000

Mundra Brothers

December, 12 Sold goods to Sachin 5,000

December, 18 Sold goods for cash 25,000

December, 20 Returned goods to Mundra| 500

Brothers

December, 25 Returned goods by Sachin [ 1,000
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23. YRA § USRI & IR SRUT Ta SRS S G0 o GHEE 8 9 gemai
I T HIFT |

SR

IR | 4od gfg & IR R0l w6 g gfg & 0 3 9R 3urEl &l W
HIT |

Explain any four causes of unemployment in India and four measures

1 1
to solve the problem of unemployment. < 4 x 5) + < 4 x 7) =4
OR
Explain any four causes of price rise in India and four suggestions to
control it. <4x%> +<4x%> =4

24. YNTHT IUHH & TR A T8 =R S 1 FaRT |
3t

TEhHI TS o IR A4l T8 o B4 ! dqisu |

State_four merits and four demerits of public enterprises.
1 1
(4~ 5) +(ax 5) =4
OR

State four merits and _four demerits of Co-operative organisations.

(ax2) +(axs) =4
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